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Second Semester B Com Degree Exammatlon May 2020
First Degree Programme under CBCSS
Complementary Course II CO 1231ICX 1231lcc 1231

BUSINESS MATHEMATICS

(Common for CommeroelCommeroe and Tax Procedure and | |
: PractlcelCommerce with Computer App!icatlons)

(2018 Admlssion Onwards)
'--'.“Tirﬁe':-a.Hoursg_ . I IR - Max, Marks'.;'-ao
. Answer all'___'questi_oh's. 'anh_queéﬁon oa.rrie;s 1mark |
1 ."Whet_'_is' q_u_ad'_r.a'ticfequa_tion?. o
2 What|s pie-diagram?
3 -. _What'is comoi:iation‘? -
| 4. What do you mean’by. mtegratnon?
5 '-What do you mean by oomplement ofa set‘? _...:"_.
6;' 'Solve 5x -—125 0 | B

7. What is skew symmetnc mamx‘? o

. PTO.



8.

9.

10.

1.

12.

. _13.'_

14,

15,
16,

17,

A=|4.3
11

What is dsscrlmmant of quadratlc equation?

What |s mterpolatlon'? =

'W_hat do_ you mean by present value?

o (10x1=10Marks)
SECTION-B .~ L

" Answer 'any eight-_qdestions.- Each 'qu.es‘tioh carﬁes_z_madts._ g '_

Prove that the determmant of the: followmg matnx |e ‘non-singular?

312

1l
5

 State the distributive law of set.

If .the demand'function for a" COmmodity is 'given by the equ'ation'p2 +4q =1600, .
__and Ihe SUpply functlon is g;ven by the equatlon 550 p? +2q 0 ﬁnd the

equmbnum quantlty and eqmllbnum pnce

Deﬁne mtersectlon of two sets.

-‘In how many drfferent ways can be. 1etters of the word CORPORATION’

arranged SO that the vowels aiways come together‘?

_;leferentlate the foltowmg wuth respect to )(?
- (4x 3)5 |

_ _What is the effective rate of mterest correspendmg to a nommal rate of 5% p a

if mterest is compounded quarteriy

2 o g-21s3




- 18. "'Monthly mcomes of two persons are in. the "ratio of 57 and their monthly
‘expenditures are in the ratio of 711, ¥f each saves Rs 150 a month ﬁnd thelr'
“monthly i moomes - - "

19. From the followmg mformatlon calculate Average payment period:

o Totalpurdwases Rs. 200000 Cashpurchaaes Rs.20,000, PurchasereHJms 34,000,
- Trade oredators at the end Rs 70, 000 Bills payable at the end 40 000.

~20. Find the present value of an amount of Rs.8, 000 deposited now in a oommercral
bank fora penod of years @12% rate of lnterest - -

21. Bnefly explaln the Double Declnmng Balanoe method

22, .lf Rupee Dollar rate is 46/ 46 15 Dollar Pound rate is 1 71/1 74, What is Rupee
- Pound rate? ' ) '

L (8 x 2= 16 Marks)
. SECTION-C S T
- Answer an'y“six'questions Each 'question'carries' 4'ma-rk's |

23. Find the productlon for the year 2005 with the help of the followmg data:
Year = 1 980 1985 1990 - 1995 2000 2005 2010

Productton (m tons) 22 26 30 '35 7 43
: 24, " Examine the general rules to be followed for oonstructlng dlagrams

25. In how many ways can S Kannada 3 Hindi and 3 Malayalam books be arranged '
- ifthe books of each drfferent languages are kept together'? ' _

- 26';_ Show that |f the square of any mteger is even the mteger |tself is even.

27. Usnng Cramer‘s rule solve the follownng system of equatlons
x+y+z 6 2x-y+z=3,x-2y+3z=6.
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28

30.

3.

_Fmd two natural numbers such that their sum is 24 and product 95? '
29, |

Fll‘ld X and Ylf

4 5 6 3]
X and X —Y = -
*Y= [9 2] ' [11 4]

Selling price per umt Rs.10, Vanable cost per umt Rs.6, leed cost Rs.2, 000 and —
- Actual sales Rs.20,000. Calculate Breakeven point in umts Break even pomt in -

value and Break even pomt in percentage?

_leferentlate the followmg w r. to X

.._x +(sinx)".

(6 x4 =24 Marks)

SECTION —~D

Answer any two questlons Each questuon cames 15 marks.

32

Out of 880 boys in a school, 224 played cncket 240 played hockey and 336

played basket ball: of the total, 64 played both basket ball and hockey: 80 played

- cricket and basket ball and 40 played cricket. and hockey, 24 played ali the three

games.
(i) How many boys did not play any game and
(it How many boys. played only Hockey? o

- (iii).- How many played only cncket'?

33.

'Fo!iowmg is the Profit and Loss Account: for the year ended 31-3-2019 and

Balance sheet ason that date in summarized form:
'_ D - _ 'Trad_ing and P/L adbou_n_t _ I _ . Cr
- Patticylars -~~~ Amount Particulars - Amount
~ To opening stock B - 76,250 By sales o 5,00,000
‘Purchases . R - 3,22,250 Clqsing stock 98,500
~ Total . .~ 58500 . - . .. 598500
4« - J-2753

B TR RN T T PR gy




or - | - Cr

Particulars i . ‘Amount Particulars  Amount
. Toselling and diétﬁbtntion_expehse_s 22000 Grossprofit -~ 2,00,000 | |
~ Loss on sale ofassets - 2,000 Dividend onshares . 9,000
Office expenses 98,000 Profitonsales of shares 3,000
NetProfit - %0000 |
Total o '2.1200'0-_ | ©2,12,000
L - Balancesheetasat3132019 ) :
Liabilities e : D Amount Assets o Amount
Share capital 2,600 eqmty shares of 260,000 Landand  1,50,000
'Rs.100each - - _ _ " Buildings. - :
- 'Reserves_ o - o 70, 000' Plant an'd_' o 80,00_0' |
o o o - . Machinery S
* Profit and Loss Alc. 20 000 Stock in trade 98,500
Current liabilites 130,000 Sundry debtors 61,500
S | - Bills receivabie. 60,000
o S | o Bank- . 30,000
oo Tetal - c 480000 480,000
' Calculate

'(a) Tumover ofﬁxed assets -
: (b) Operatlng Proﬁt Ratio .
' .(c) Operatlng Ratio |
@ CurtentRatio
(e) Stock tumover Ratio |
.34. -I.A party of 3 ladies and 4 gentlemen is to be formed from 8 Iadles and

7 gentlemen. In how many different ways can the party be formed if Mrs X and
- Mr. Y refuse to jom the same party _




-

| 35 (a) ‘At what tlme Wl" a'sum of Rs. 1234 amount to Rs. 5678 at 8% p a. oompound'-

lnterest payable quarterly -

(b) A rnachlne, the fife of which is esttmated to be 10 yéars costé Rs. 10' 000
 Calculate its scrap value at the end of its life; depreciatlon on the reduc:ng«
mstalment system bemg charged at 10% pa. .

(2% 15=30 Marks)
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Second Semester B.Com. Degree Examination, May 2020
- First Degree Programme Under CBCSS
Foundation Course : CO 1221/CC 1221
INFORMATICS AND CYBER LAWS
(Common for CommercelCommerce with Computer Appllcat:oﬁ)

- (2018 Adm:ss:on Onwards)
Time : 3 Hours . . Max Marks:80
~ SECTION—A

Answer all questlons in one word or to a maximum of two sentences each. Each
questlon carries 1 mark

1. Define internet.

2. Whatdo yqu ‘mean by cybek ethicé?
3. Whatis NICNET?

4. Whatis DSL?
5 What do you mean by virtual reality?
6. What are E;wastes? |

7. Whatis WAN?

8. Whatis localisation?

P.T.O.



A ma dee e Em W = —

9. Whatis data?

10. What is bus topology?

{10 x 1 =10 Marks)

SECTION-B
Ahswer any 'eightﬂ guestions in not exceeding ehe earagraph each. Each carries
2 marks. :
11. What are the solutions to information overloa.d?
12. What is cyber space?
13. Distinguish between internet and intranet.
14, _.What do you mean by broadband?
15. - What is eavesdropping?
16. What is. infrared communication?
17. What do you mean by virtual classroom?

18. Whatis WI Fi‘?

19. What'de you mean by .Expli_cit knowl-edge?
20, Whatis SMS?
21, What s digital certificate?

22. How IT is useful in weather forecasting? |

(8 x 2 =16 Marks)
SECTION-C .

Answer any six questions in about 120 words. Each q'uestion carries 4 marks.
23. What are the different types of networks on the basis of distance?
24. Whatis greeh compu‘ting? What are the components of green computing?

25. What do you mean by cyber addictlon'? What are the risk factors associated with
~ cyber addiction? :
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26.

27,
28
29.
30.

31.

r

What do you mean by d|g|tal divide? What are the factors that contribute to the
digital dtwde’?

What is INFLIBNET? What are its junctions?

What are the health issues related to the use of computers?
Explain how iT can he used for national integration.

What are the advantages of wireless communicatioh? |

What do you mean by educational software? What are the uses of educatzona}'

' Software’7

| | (6 x 4 = 24 Marks)
SECTION-D |

Answer any two questions in not exceedi'ng four peges each. Each question carries
15 marks. _

32.
33.

34.

35.

What is internet? What are the business uses of Internet?
Describe the features of IT Act 2000.

What do you mean by cyber cnmes’? What are the different types of cyber
crimes?

What do you mean by knowledge management? What are the features of
knowledge management?

(2 x 15 = 30 Marks)
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'-sec-ond Se'me‘ster'B'Co'm Degree Examination',” May'2020

- Career Related Frrst Degree Programme Under CBCSS

2(b) —Commerce wnth computer Appllcatlons -

Ccre-Course_ Vi CC 1241

FINANGIAL MANAGEMENT -
' (2018 Admn onwards)

s _'T'ime:SIHoura '- '_ :' H

 SECTION-A

-Answer al-l.questiOns. Each question carries 1 mark. .

What is working capltal’) o

- -What do you mean’ by wealth mammlzatlen'? : |
| What is meant by time value of money’? |
- Def né ﬁnance function.

' What rs cost of debt’>

Define._operating leverage. .

What is bond dividend?

Define cu'rrent'assets. C

- ~Whati is EOQ”

' Name the motives for holdtng cash. _

 Max. Marks : 80

(10 x 1= 10 Marks) -

P.T.0.




A
1-2__."
| 13,

14,

15.

17,
18.

19,
20.

o

22.

: ~Answer any e_ight questions. Each question carries 2 marks. . ¢

: DiStitfguish between gross working capital and net working capital. .-

What is safety stock?

Whatis credit poliby'? .

B Ltd Earns ‘Rs. 5 per share is capltahzed at 10% and has a return on
mvestment of12% smg Watters model determlne o : .

B (3) the opt:mum payout and

L (b) the prlce of share at thls payout

What is mterlm dtvzdend?- '

Ftnd out operatmg leverage from the followmg data

| Saies Rs 5 00 000 varlable cost 60% ﬁxed cost Rs 1 20 000

What is tradmg on eqwty‘? -

_Det" ne cost of capltal

20 year 1 2 5% debentures ofa f' IFm are sotd ata rate of Rs 75. The face value of;

- each debenture is Rs, 100 and the tax rate is 50% You are reqUIred to. compute
the cost of debt capltal - : : .

-Det“ne cap_ital budgetmg.___' . K |
What is systematic risk? -

What is discounting technique? = -

{8 x 2= 16 Mark’s)_' o
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23,
24,

25,

| SE.CTI__C)_N...-C o

' Answer any six duestiené;' Each question carries 4 marks.
_Explain the -o'bjec'tives"of ﬁnancial--managemer_it.' R
; -What is NPV’? State its advantages |

| A company |ssued 20,000 5% preference shares ef Rs 100 each Cost of issue )

is Rs. 2 per share Calculate eost of preference share capttal |f these shares are

lssuedat }

26.

27,

" (c) Discount of 5%. -

" (b)  Premium of 10% and

The book value pei' share of a corhpany is Rs. 145.50 and its rate of return on-

equity is 10%. The company follows a dmdend policy of 60% pay out What is

‘the pnce of |ts share if the capltallzatlon rate is 12%

Calculate fi nancual leverage

nterest - - Rs.20000

Sales(f000units)  Rs.200000

© Variablecosts - . . . . . Rs.100000

28.

20

' Selhng prlce | L : | o ,". Rs Bper anit

Fixedcosts -~~~ - . - Rs60000

B'rieﬂy'-‘explain vatiot:s theeries on -div.idend pOIicy =
"Prepare an esttmate of work;ng capltal requ;rement from the followmg mformatlon N

F’rOJected annual sales : _ - | 100 000 umts"_ - .

.Pe_reentage of-n_et proft't:oneale_s..' -' oo I ._.2_5%

3 g



E Average credit penod allowed to customers’ - T Bweeks

Average credlt penod attowed by supplters T 4 week's.':_. o

. 'Average stock holdlng in terms of sales reqwrements | o :_ _"_'1.2 weeks
B _Allow 10% for contlngenc|es o R | | T
: .' 30 What is tock’ box systemi> State its ments and dements .
31, E_xpl_am the factorjs_.affectlr_tg cest of capltat. o

R | | (6 x_._4'=_"24_Marks)_
SECTION D o

'_ _Answer any two questlons Each questson carries: 15 marks

32 Explaln various factors determmrng the workmg capitat reqmrements

 33. The annual demand for a product is 6«400 UﬂltS The unlt cost is Rs 6 and
- inventory carrying cost per unit per annum is. 25% of the average mventory cost.
if the cost of procurement is Rs 75 Determrne ' : . .

| (a) Economlc Order Quantlty
| (b) Number of orders per annum
o (c:) Tlme between two consecutlve orders

34 Calculate degree of operatsng Ieverage fnanmat Ieverage and combmed .
L "_Ieverage from the followmg data; - : :

L Sales 1 00, 000 units @ Rs 2 perunlt — Rs 2 00 000
| 'Vanabte cost per unlt @ Re. 0 70 R

Fixed costs —Rs. 1,00, 000

o _.Ir_t_teree_t _charge_s — Rs. 3,@68

* 35, . Explain the functiens of financial management.

© (2x15=30 Marks)
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'Secohd Sémester B.Com. Degree Examination, May 2020
First Degree Programme Under CBCSS

Foundation Course Il : CX 1221/TT 1221/HM 1221 .(2'014. admn.onwards)
- B and | .
CO 1221/CC 1221 (2014 admn. to 2017 admn.)

INFORMATICS AND CYBER LAWS
(COmhon for CommercelCommerce & Tax Procedure and
Practice/Commerce and Tourism and Travel Management/Commerce and
Hotel Management and Catering/Commerce with Computer Applications)
Time : 3 Hours | - ' © Max. Marks : 80
SECTION — A

Answer all questions in one word or to a maximum of two sentences each. Each
qguestion carries one mark. -

1. What is wireless teéh'nology?

2. Whatdo you mean by. Dial-up.rr-lethod’?

3.  What do you mean by Information. age?

4. Name any two open accéss publ.ishi.ng modéls.
5. What do you mean by information overload?

6. Whatis cloud computing?

P.T.O.



10.

Wlhat are.e—journals’?
Mention any two benefits ofsobiéi netwarking sites.
What is web jacking?
What is cyber addiction?
(10 x 1 = 10 Marks)

SECTION — B

Answer any eight questions in not exceeding one paragraph each. Each question
carries 2 marks. :

11,
12.
Y
14
1.
16.
17,
18,
19,
50
21.

22

What do you mean by NICNET?

What do you mean by Wi-Fi? |

What do you mean by cyber space?

What are the types of intesnet access meth.odé?
_What do you mean by virtual reality?

Distihguish between system software and application software?

‘What are the differe'nt academic websites available on the internet?

‘Mention briefly the methods practiced to protect privacy issues?

What do you mean by "triple bottom line"?
Whaf do you.mean by free software?
What is an e-Journal?

What is ISP?

(8 x 2 = 16 Marks)
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SECTION - C

Answer any six questions in about 120 words each. Each question caries 4 marks.

23.
24
25
26,

27.

28.
29.
- 30.

31,

llustrate briefly the rolé of IT for national ihtegrati_on

Explain the use of IT in Education.

What do yﬁu mean by informatics? Discuss its features.

Whatis a topology? Exp'.ain various computer ngtworkihg topologies.

What is green computing? What are the ways to effectively address the
environmental impacts of computing?

Discuss the scope of cyber laws in India.
Give a short account on the various mobile technologies used in India. -
What do you mean by informétion overload? What are the main causes for it?

What are search engines? Distinguish between a search engine and web
browser. ' '

| (6 x 4 = 24 Marks)
SECTION - D -

Answer any two questions in not exceeding 4 pages each. Each question carries
15 marks. '

32.

33.

Explain the use and importance of IT in the modern day socjety.

Discuss the various types of computer network_s

3 | J—2748



34.

35.

4

Discuss the internet as a repository. What are the techniques used in academic
search? ' :

Explatn the varicus hea!th issues associated. with use of mob:le phones. Also
explain the gu:dehnes to counter such issues. ' _
(2 x 15 = 30 Marks)
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Reg. NO. © cveeerrreeamrareninnnnns. | | o |
Name- ersrmensassin st st | o | o

Second Semester B. Com Degree Exammatlon May 2020 |

| Career Related Flrst Degree Programme under CBCSS
' 2(b) Commerce wrth Computer Appllcatlons ”
Core Course VI
CC 1243 — FINANCIAL MANAGEMENT
(2014 2017 Adm|ssron) -

 Time: 3 Hours T . MaxMarks:80
 SECTION=-A -

_-Answer allfques'tion's.' Each_guestioh carries 1 mark. -

.‘. .

© ® N Ol A w N

What is fi nancual management’? -
What is time va!ue of money'?
Defi ne IRR B
- What is capital budgetmg'? .
‘_What is benef t cost ratlo’? _
'.How payback perlod is computed when cash mﬂows are unlform’? '
Define cost.of capital. B |
" What is financial leverage’?
‘Whati is gross worklng caprta!’? ”
What is d|V|dend?

e

(10 x1=10 Marks)

PTO.



12 |
1.
14..

e

16
17.
18."

. _19.:

N 20..

21,

22.

. SECTION-B

._ Answer a'hy eigh't'quest_idns; _Eaeh question earriee 2 tﬁ.arks. -.
Explain ihé diffe.reht. tyees of financial decisions.

'What is capltal gearlng'? o o

| State the dlfference between NPV and PI.

I'_What are the approac_he_s.of- ﬁn_ance function?

What is discounting? . * -

Calculate payback period when the cost of a pro;ect is 'Rs.1,00, 000 and the -

: annua! cash ﬂows is Rs 12500'?

What is a growth firm? | S

What is the concept of le\}era_'ge?

What s stock dividend? |

State the objectives of cash .rr.ianagemen't.

Distinguieh beMeeh corhpenent and composite cost ef eapital. |

What is cost of equity? S
. : (8 x 2= 16 Marks)

'SECTION-C

' AnsWe_r "a_n'y six queetiohs. Each QUestion carriea 4 ma_fk_s.

23 What are the concepts of workmg capltal‘?

24. Explam the importance of capital budgetmg

25. What are the different types of dividend?"

2 . y-28%0




27.
£

' .29.

'eo.'

-3

32,

lnﬂows and present values are glven below

.. Explaln the fUI’lCl’fOﬂS of a ﬁnance manager

' What are the factore affectlng the cap:tal structure’?-r-

Explaln the technlques of mventory management

: State the advantages of NPV method

What are the motlves of ho!dmg cash'? |

A company lssued 1000 7% preference of Rs. 100 each ata premlum of 10% -

_ redeemable after 5 years at par. Calculate cost of preference shares.

: (6 x 4=24 Marks)

- SECTION-D

Answer any two questions. Each question carries 15 marks.

E_xplain the_.' _objectiye_s of ﬂn'an.c_'ial management.

33. " What are the factors affecting the'wo_rking'capita'l_ requirements?

34 A co'mpany' is considering two projects X and Y. Cost of capital of the company is

10%. Project X. costs Rs. 1,00,000 and Project Y costs Rs 70, 000 The cash

Years

. _Pr'oje'cte ' 1 . 2_' -
X 80000 80000
.Y 60000 60000
‘Presentvalues 0909  0.826
@10% |

. Suggest WhICh pro;ect should be accepted by usnng

(a) NPV Method

(b) Pl Method.

3 Jy-2890




35 ‘AB Ltd is conSIdenng the purchase of. a new machine Wthh will carry. out some

: operatlons performed by manual labour. Damsel and Shylock are the two -
alternative models. From the following information, you are: required-to prepare a

_ prof' tab:hty statement and work out the payback penod in respect of each asset.

Damsel Shyleck

ESt'im'atédﬂlife ('Ygé-rs)_ L | | "__:1'0" 12 :

: . '.C_O'St-__' S - | ._ .. 300000 500000 ‘_
Coet efindi_rect_ r.na._teri-al-e - . 12000 16000 .
EIStimate_d: aayi'ng's |n ecrap._ B AR 20000 - ._ '3000(}'

| Addi-tional cost c'ftnaint'enance © ta0 220000
| Addltlonal cost of supewls;on o .. *24000 o 32000. .
Estlmated savmgs |n dlrect wages o o
B _Employees:not required S .. 150 200
© Wages per'e'mbloyéé - R 1200 1200

Taxatlon is to be regarded as 50% of prof' t. WhICh model can. be recommended ‘
- for purchase’? Give reason for your answer.
: (2x15 =‘ 30-Ma_r_ks)

4 _- S T J-~2890 ¢




Secorld Semester B Com Degree Exermﬁatlon May 2020
T F:rst Degree Programme under CBCSS

- Complementary CourselCore Course | L
BUSINESS REGULATORY FRAMEWORK

(Common for CO 1231ICX 1231ICC 1231(201 Ato 2017 Adm:ssron)
' and CO 1242/CC 1243 (2018 Admlssmn onwards)

:'-T'mé .3%”"3 S R Max. Marks 80
L | | R SECTION_A -
_. AnswerallqueshonsEachquastm,-, cames1 mark. : /. :
| 1. Name the reg"‘atorv authontyof Insurancesector -
2 "W‘_"_’-?S-élun'at'?f?? R
o 3 '_:_[.)e:fihei_a_:greemeht;_ o
» 4. What |spast consnderatuon'? - o

x 5 Who caf_n'demend_-'perfo"rrnahc'e?-' L

6 _.In-WHiChyeer sale_-.o_f Goods Act came_ini_e_-éXiSie'n'be?‘."__ SR

. PTO.




10,

.- -What do you _rneén'_by' tr_éde mark‘? "
a .Delﬁn_é _me_'r.c;éntile law.
Who'is a pawnor? )

‘What lsmlstake'? . '-

| '_SECTION - B c

; ”Answer any elght questlons Each questlon cames 2 marks. o

i
o
13
v
RS

.1-6'.'.
o

: 18.

20.

ot

22

| Déﬁne--.du'ress

'What do you mean by Quantum merwt'?

‘What i is meant bya.cqntmgen_t °-°'?t_ract?- e

£

'Who 1s an unpasd seller'?
_What is meant by free consent‘?

-_ Deﬁn_e wa_rranty.

Def ne-'cﬁntréct-of Salé .

.What do you mean by plagl.ansm'? e o
.'State any two objectlves of nght to mformatlon Act 2005
'What do you mean by strangerto contract’? -
'What is general Ilen'? | o

'Wnte any two functlons of Central Informatton Commlssmn

: :'-'_(axz

(10 1 =10 Marks) -

=16 Marks) S

C some



26
a
- 2.
30

31

32,
. 33._
. 34

_ ‘35'. |

- Exptaln doctnne of frustratlon

| 'VSECTi‘on}_.c N

'_ Answer any six questlons Each questlon cames 4 marks

_ State the dlfferenoes between condltion and warranty

What are the excepttons to the rule “No conStderatlon No contract"‘?

- -Explam the Doctnne of Caveat Emptor State the except:ons to thls rule.'
_Explatn the objectwes of IRDA

'Dlstlngmsh between v0|d contract and votdable oontract

Write a note on copy rlght

Expl_al_n the .d_utles of_ an agent.

W_h_at are the'es_Sentia_ls of a valid offer_?.*-_' | :

. "SECTI'C_)N -D

'Answer any two questrons Each questlon cames 15 marks o -_' :_.' _ |
. Det" ine contract What are the essentlal elements of a valld contract'? o
'Explaln the remedles for breach of contract of sale

_.’Who are. the persons mcompetent to make a contract by status'? Explam

What are the nghts of an unpald seller‘? '. ._ -

e x15=30 'Msi.-ks)'_‘ :
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- Second Ser"n'es'ter-.'B Com .'D'egfee-hEI‘Xaminefioh: Ma'y 2920 RN
| F:rst Degree Programme Under CBCSS |

Core Course - co 1241ICC 1241 ” |

BUSINESS COMMUNICA'"ON AND OFFICE MANAGEMENT

(Common for CommercelCommerce wnth Computer App!lcatmns)

(2014 Adm to 2017 Adm)

. Time:3Hous S | Max Marks 80'_

| SECTION-A

"+ Answerall questions in one o two sentences each. Each question carries 1 mark. - -

1 Deﬁhe cornmumcatlon S
P '__'.'W'ha.t |s '_a__'cj;é_ih'fe'rer_:’ce"‘? . .
| 4 .Deﬁnet'éfﬁce'. |
: 5 | -'What is agenda"’
” 6 What is Complementary Close’?'_ L

7 Whatlssataton?

. pro. .



8. What do you mean by testimonials? - -, -

9.

10,

. Deﬁ_ne Resoiutiom_-

What _is.':a report?

s ox1=10Marks)

) -SECTION. eB

“carries 2 marks.

11,

14
15.
18,
17
2

e 22_.

Bﬁéﬂy eXplain the objectives of communication.

-'What i's iriterpersonat'-cor'nr'nu-n'icat'ion‘? |

Dtstlngursh between ﬁ!mg and mdexmg

R

_. Gwe a bnef account of employment mterv:ews
_ Wh_at 13;_a_ resum‘_e?_ :

'-Giire' any two- demerits-of' Written 'oommurtication'

Fumlsh any four examp!es of mass comrnumcatlon medla.

What is horrzontal communlcatlon‘? lee an example

'What do you understand by centrallzed ﬁllng‘?

Bneﬂy explam the pnncnples of 'reoord- keepmg. o

What are the steps Involved in ofﬁce layout )

: What isa card mdex?

'-'Answer any etght questlons ln not exceedmg one paragraph eaoh Each questton :

(8 x 2.= 16 Marks)

S g-2150



' SECTION C

| _Answer any six questlons in not exceedrng 120 words Each questron 'ca'rries_

4 marks _'

e 23.
24
e

_27_.'
2.

£
_ 30,

31,

32
33,

34,

..E_x_plaln the'pnnmples of oral presentatlon. | o __ S

:What are the advantages of oral oommumcatlon’?

-What do you mean by formal communlcatlon'? lee examples

What is the 1mportance of effectwe communrcatlon in busmess‘? |

-'What are the objectwes of oft' ce Iayout’?

"What are the po:nts to be bome in mmd whrle draftmg an order letter’?

What are the dlﬁerent types of presentatzons’?

| Explam bﬂeﬂy the prmmples of effectlve oommumcatlon

_What are the drﬁerent types of mterv:ews'?

' SECTION D

| Answer any two questions in not exceedlng four pages each Each questlon carnes
_1 5 marks : _ . :

" 'Discuss the barners to effectlve communlcatlon
'Dlscuss the essentral parts ofa busmess Ietter

_ Draft a letter of order for goods on the basrs of quotatlon askrng for guaranteed_ i
- dellvery date. . :

_ Dlscuss' m-detall the__bastc tunction's of a-n'dfﬁee.' -

. "(2x15=30Marks)

e o e et ¢ amem e e e s

(6% 4= 24 Marks)
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Answer all the followmg questrons Followihe mstructaons gwen m th e brackets | o

1 The correct spelimg of the word abcense is_"" AT

S 2 . The antonym of the word ‘brave is _' —.

o E 3 | __-.Anether word for enomrous is

L4 The noun form of dangerous rs

Did j knew that the results ware < ~Caneet_the senfenoe)

8. - '_t{ﬁve months (Use the correct
. tansefarm efthe verb in brackets) R T




0.

"Answer any elght of the fonomng quesuons

;lee the antonym of two of the followmg wnrds

C . (a) soft

() messy MR . o

B :_'(c) ostraotse

Replace the words in rtallcs wrth the oorrect wordslphrases .

'(a) How a prty that you missed the show'

o (b) So a shame that he treats hrs srster so*

__ ..'Make sentenoes of your.own w1th any two of the phrasal verbs .j{ oo
RS ‘Look up to’ | T

by make away wrth

S -(a). | —————Is the best burger m thls restaurant"

() putupwith
| '-_(ﬁ) gaveup

Frﬂ in the blank wrth the correct Wh word

(b) !have not yet found the gsrl '_-_ - Iwas !ookmg for

B
| (a) ThlSiSthe
' --_'_J;(b) Tmsisthe

: Flll in me blank usmg a Mectwe noun (swarm oolony, _ﬂock pack)
i -,;-'-'_(a) 1saw a. _- — of doge in the field. i
o '(b) A — —of ants was seen marehingby

- FIH in the blank mm the suntable degree of ad}ectwe

ooffee l_have ever rsad {good)

%Nmther my father nor my brother are oommg for the programme (Correct the' ]
"':sentence) | | | R S |

can' - o wi‘_t'h ._thie _anymo.rét (Use Tf_he-fapiirobri_ate- phrasal verb which
'.meanS‘tolerate | S

(10x1=10Marks) |

B =




T

L 20
o (@ Seetha danced (tomght beautifmly, at the get together)

c ___:-_".Cafcectthe error m the words gwen m ttalx;s

"f(a)_ fl bought my eamng from the ;ewellarsm Thnssur

C®) .'-_My bmther in :awshave gdne l;o London today

18,

-(a) -'-'.There aremany types of ﬁshes at the oold starage now

o (b) -'_I thmk the paper may be avaﬂab&e at the stat:anary shap

(@ ."'The degradmg of the environment wm tead 1o aur end. -
S (b) ‘-'-:'Many animals these days face extens;m R

Anange the adverbs ln the oorrect order and mita the senlaenoe

B (b) - I have asked euetyone to wme (m the, avemng, here at mna)

o

L Feiran is an ltallan quury sports car m"'f?' sfac

L és‘d“s a“d‘ﬁ‘ﬂ lmpartlng of knowledge. something
| '-"'-'-;-:;.'(b) 'What:s adueahun'-’ I

Read the paragfaph and answer the quasﬂons

fac "'_",_rerbasedm Mamnello Faunded .

by Enzo Ferari in 1939 out of Alfa’ Romeds race. division ‘as_ Auto Avio
.. Costruzioni, the company built its first car in 1840. However, the. company's' S
" inception as ‘an auto manufacturer is. usually reoognized in 1947 when the ﬁrst U
” *_Ferfan-badged carwasoompleted o T S

T (@) What doss ‘quury‘ mean?
‘ (b) Whatss Ferran?

'aba' considered 1a branch of both phﬂasophy-;-__

(8 x2=16uarks) :




f:itl

.23,

Answerany six ofthefeilovang questlons R

_ '_Match the par:ts in oolumn A wnth that of eetumn B _
s :'_”_(3)-. P faCtlce the 30“9 well '(i)'_ - _that we may gam knowiedge

o (b) _Here comes none other - _:_'(n)" and a Iynmst

(c) | The boys care for nelther ”_:_-'_(m) test you ferget your tyncs

- (b) - This shirt S0 expenswe, is toe tlght far me to wear

P f(d_)'_'_" He is both a smger o -_'_ (lv) than the star smgerl
o '-_(e)"_”._We read . a __::(v)’;___ '_money norfame

-':'Fult in the blanks w1th the correct opt:on . o _ S
--'r.(a) 1 had asked you to - - rmmedlately, hadn't I? (wnte melwnte to

. __.me)_--

@ '_.Dan isa Veyy person (dynamlcldenymg) o
~(d) He was - - from work for not domg has work wett (tatd oﬁllayed
s off) e __ - o

. Spot the enror under!me the wrong phrase and correct the sentenoes |

"('a) ) They do not stop thelr protest unless the:r pay is hlked

(t;)__.--Sheisabsentownmgtoherllt | o
S ;'(q:)_:_pr soonerthedoorctased thanwebmke out mtoadanoe

e -Tf_".» (') C“G'@t is played in most countnes mday

| | _(u) Were you taught to smg when yeu were young?

e (b) Transfm‘m the followmg lnto passwe voam
e Happiness tlghted up theirfaces.

o -:._;-f-if'..'(il) She mwted me to her new home yesterday




A Isthis —————= - newhouse‘? L e

L B Be Yes A is. (';ome ¥et us all go and see

o '\_"-'sure that - 'f all are careful around it —

- make lt dirty - — motherwm soold me otherwsse.—f R

A Sure becaret. |
. 2‘6-._.?_Comme emr S . e
: :._(a) The doctor thanks hts eondrllen ts more bad than yesterday
o (b) Please dnve as camfui as you can | |
o _-_(c). . Nro'-u s’hbul’d run fasﬂy as Wu-can,_' B

 ' ::_(d) NObody was s0 beautrful as her.

R 29 -F F|II II’I the blanks wnth smtable arucles If necessary

. (a) — elephant is Iargest of al!

a __'_ammals, and — natweof _'_:'____Asga._-__ S

" 27 Fillin the blanks with suitable pronouns : (we, it my, you,your) -

———Make
—mustrot -

(b)_,? " "_' - number of trees in woﬂd accordmg to“:_

(o) e owner and —— “‘a"age’ o -
o Mr Shah is cemrﬂgoverfor — 1. metmg 'Dday

' 201Seshmate |saround _ j__ - j_ 3.04mll,horr o

] -iargest exporter of
' -”_.__lneiudes

woﬂd whtch N




30 Read the passage and answer the questtons helaw

- .:" "Coronawruses are a groap of v:ruses {hat causé dlseases in mamma!s and birds

R ¥ humans corona v;rases cause respimtery tract mfectlens that are: typlcaﬂy L
. . rnild, such as the: common coid though rargr fonns such as SARS MERS and."'f.'_f:
-_-_'-'_COVID-19 can be lethal. Symptoms vary. in other species : in chickens, they
© . cause an upper: rasplratory tract disease, ‘while in-cows and pigs. they cause - |
B dtarrhaa There are yet to be vaccmes or antmral drugs to prevent or treat_ L

~human coronavirus infections. The name wm:aav;rus is’ denved from the Latm o

B _'_"';"_comna, meanmg "crown” o "halo

o "_(a) What is the synonym of the world "iethal" as usad in the passage? (!ega{

accepted deadly scaay)

. _'(b) Whlch are the rarer forms of the wus’?

SRR .'"(d) Wh,at do you meaﬂ by halo'? B

BT E

| ?Pe!lunon is  the mtroduction of eontammants into the natura! enwmnmem fhat' S
- cause adverse change. Pollution can take- the form of chemical substances or

* energy, such as noise, heat or light. Pollutants, the ‘components of pollution, can
be elther foreign” substanoeslenergtes or naturally oceurring- contaminants. 7}

o Pollunor_w ;s often classed as gomt soume ar_ mnpomt source pollutlon In 2015

_-'-(a) mmwumeanbymmm?
S (b) Gmmﬂ}eamng@fm
= _"ﬁ";.':.:(c) Whalampouutants? o
: _'I:-'::_“(d) Howcanm c!ass;{y pﬂllut;on?'-_: ERR T

ution killed 9 miflion péople in the woﬂ'd R

L (exllﬂuﬂ m,




IV Ahswer any two of the foilowmg qu.__ ns,

" aboutthat in college I'was unju

- - suppressions. Reserving jud

'(b) Pﬂvy’ mthe passage means | o

L GROUPA N
tow passage and answer the quest:ons be!ow

ln m younger and more vulnerable years my father gave me some adwce that; S
e been tuming over in my mmd ever since: "Whenever you feel-like criticizing - .
ol remenmber ﬂmtall the people in this world haven't had - A
. the advantages that you've had He didn't say any more, but we've always been o
~ unusually communicative in a reserved ‘way, and |. undemtood that he-meanta =
‘great deal more than that. in. consequence, I'm inclined to reserve all juﬂgments o
- a habit that has. opened up many. curious. natures to me and also made mé the ™
. - victim-of not a few ‘veteran beres. Tha .abnor S
- aftach itself to this quality when it appears in @ normal person, and soit came . !
. tiy accused of being a ‘politician, because | was:
’prwy to ﬂae ‘secret griefs-of wild, -unknown men. Most of the confidences were
S roquently | have feigned sleep, preocwgaahon ‘or a hostile fevity - -
_— ;"_.'when 1 ﬁeaﬁzed by some. unmistakable. sign’ that an intimate’ revelation was =~ -
e qu:venng on the horizon; for the mtsmate revelations of young men, or at least the: -
. terms in.which they express. them, are ssually plagiaristic and marred by obvious™ -~ -~ .
T ner n ';ter of infinite hope. | am stilt a° lite -
. afraid of missing something #r forget;that; as my father sniobbishly suggested, = -

© - and snobbishly repeat a sense of the ﬁmdamental deoencaes is parceled out\.;.: -

e unequally at birth : P P |

.hetold me, ;ust

U And, after boastmg this way of my toierance imme to the admissmn that Jt has a
" limit. Conduct may.be founded on the hard rock or the wet marshes, but-aftera
- certain point | don't care what it's founded. on. 'When | camée back from the East-
~ last autumn'l felt that | wanted the world 1o be in uniform and at a sort of moral -
<. -~ attention forever; 1 wanted rio mcreg-ﬂ;étﬂUs“emmns with privileged glimpses
ST -lnto me human heart. Gnly Gatsby, ’the‘_::__ ra
o have an unaffected saom e T

@) Theword consequence mthe sage is closest .

(i) effeat
(m) saquence

(!) Anpeal

(iu) aware of

chﬂ‘bsmg one from each group o

mal mind. is quick to’ detect and |

0 gives his name to this book, - L




e (c) .":'_What adwc,e dld hIS father gwe hzm‘?

3(d_)_"_-.'What was the result of th:s ad\nce'? | DR

o ] -.(ej'_' _'-"Why was he accused of bemg a poldrcran‘? s '. .

._._ .

> '(f-)ﬁ-'_ ."_What does turnlng over nn hls mlnd mean‘7

R (@) :lee another word for unsought r_-:; -

E ('ﬁ) -"Whlch word _from the passage means expesed to the posslbmty of berng

i

W About what did he not care aﬂer a certam pomt’?

iy Whlch rs the word m the passage that IS opposlte to variable’? o

o _(k);:fi;":.What is the meaning of boastmg ?. s

S (l) Gwe another word for snobblsh’ o - |

(m) | Who is the one person who the narrator wanted to kndw about’?

B -'__3_(n)_:__-__.What drd Gatsby represent‘?

o (o) _'-Gwe the antonym of the word ‘hostlle

o _:."-_FIH in the bLanks wrth surtable artlcies. prepmrﬁons conjunctions, adyerbs or
el _ad;ectwes | _ N

- (a)_"'_-_ ' you den't eome on tunetewoﬂ(. !w:ll dlsmlss you |

_-_'-'(b) You can opt for Ital’anerGerman :

-

@ Umted States has largest art museum |n S

(d) I am desperate @aim“ﬂﬂe heip me




{e) - — ! came eady to work. I mtght as welr get some work done. _- -

(H The Aips ane me Meuntams ln Europe

(9) Thls exam 13 — than[expec‘[ed

(h) . . extemal examlner — your exam has amved

(i) The house is blg : for all of us te Iwe in.

) lt was - — evenlng when we reached the stat;on (Iaterllate) - o

(k) He spoke ms ﬁrst book

) tlred we ﬂecided to Iunch before gomg out (bemglto be)
(m) My dog Izkes - cats (to chase!of chasung)

(n) In sprteof — well she was stt{l ttred (havmg slept!sleepmg)"”_ e

(o) What do you plan her for her weddang'? (to gwelglvmg)

GROUP B

Read the foHowmg passage and answer the questlons below

(15 X 1 =15 Marks) '

Once when I was six years old I saw a magniﬁoent plcture m_ a boek called True
Stories from ‘Nature, about the prmeval forest. It was a picture of a boa-

constrictor in the act of swallowing an animal. Here is a copy of the drawing. In
the book it said: "Boa constrictors swallow their prey whole, without chewing it.
After that they are not able to move, and they sleep.- through the six months that =
they need for digestion.’ " | pondered deeply, then, over the adventures of the.

jungle. And after some work with a colored peacll I suceeeded in-making my ﬁrst" )
drawing. My Drawing Number One. | showed my masterpiece to the grown-ups, e
and asked them whether the drawing. frightened them, But they answered:

“Frighten? Why should any one be ‘by a-hat?” My drawing was nota . '

picture of a hat. It was a picture of a ‘boa’ constrictor digesting an elephant. But ”

since the grown-ups were not-able to understand it, | made another drawing: |
drew the inside of a boa constrictor, so that the grewn-ups could see it clearly S
They always need to have thmgs exolamed A

9 o semn




EE Th& grown-ups response thls ttme was to ad\ﬂse me to iay asnde my drawmgs .
-~ of ‘boa -consfrictors; wheather from. the ms;de orthe outsude .and_devote . m‘yself L
.~ instead to geography, history, anthmehc and grammar. That is why. atthe age of = -
- ... sixt'gave up what might: have been a magnificent career as a painter. 1 had ]
- been: disheartened by the failure.of my ‘Drawing Number.One and my Drawing -
. Number Two.: ‘Grown-ups - never understand -anything by themselves, and it 1s' SRR
tsresomeforcmidrenta be always and forever expiammg thmgstothem ST
S (é) _'_4-Whatdoy0sumean by magmﬁcent’? B | g L
() large - A (li) :-__7_3-'§extreme[y beaut:ful R
) megniig ) mowcthesbow s

'_,j_(b)-:___-f;_Whatdoes pondered’ mean'? T el
o (') 0 Wa“de*' - (“) ..-1:::’-"1‘9390"'" A
e (m) to think about (|v)'f_.:'._f‘___'_'none of!he above

) (C)What is the meanmg of‘d;sheartened’?f{i"ﬁ"_ oo -
e _-_':'(lu) helped (lv)- supported

R (d) _-':Whtch |s the magmf cent plcture menhoned?

-._(fej;__j_-IWhatmaBOaconsmmr? R

X i (f) '_;'-:'_:__What was hts ﬁrst plcmre of?

i @ What did the grown ups ""sta’ e m RSN
L ) .What advlee did he getfrﬂm gmwn- Ips

r
| G
l '.'- G)What ls the meamng of gtve up ?
.E . o U)What happened atthe ageer sax?
e Cm amm mrd o isons
T _'."-;%:-(:iir) Tediﬁus




I L () What is the ineamﬁé of cjafeer.. .
o -(i) tocarry | (u) ‘a j.Ob. | o
(ul) !oad - | (tv) ﬂatten.'. - S R
| "'I(m) Whois the narrator" N o - '
.'..._"._(n) leeasmtable tltle for thls passage e AR o
. _:j'”(o) lee another word fqr grown ups |

: 35. Spot the error in the underlmed sectians m the foﬂewang sentences lf there is no .
_ error theanswerts ‘D S IR I _ R

A B _
(¢) I maled that Rema is making good progress of her stud

y (d) ﬂ@!ﬁ_@_ﬂlmgmme boys .'ae!!i.ffﬁ"'!.--} L

. - A B - G D




_ (m)-The commitiee has besn agreed to consider hs pe

() Letflowers be pianted all over this hill Neemor.

iBS? M S o

Noerror. .
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SECTION- A

Answer all questions in 1 or 2 sentences each. Each question.carries_' 1 rhark.
1. What is going concern concept?

2. What do.you understand by aécounting istandards_?

3. Whatis pbs_tihg? |

4. Whatis cash discoun_t?

5. Whatis ah openihg entry?

6. Write a short ndte on prepaid'e.xpense's.

7. What is meant by drawings?

P.T.0.



8. What do you mean by self-balancing system?
9. Whatis -Primage’?

10. Ascertain Gross Profit from the following particutars :

Rs.
Opening and closing stock - 18,000 each
Purchases - 55,000
Manufacturing expenses 10,000
Sales | 90,000
| (10 x 1 = 10 Marks)
SECTION - B |

Answer any eight questions in not exceed'ing 1 paragraph each. Each question
carries 2 marks.

11. D_isﬁng;:ish between Journal and Le'dge:r.

12. What do you understand by errors of principle? Give an example.
13. Write. a short on Suspense Account.

14. Define fixed assets. Giye an example.

15. Name any two methods of providing for depreciation. |

16. Writ.e a short note on Total Debtors Account.

17. Write a short note on returnable packages.

18. Givg a Compound Joumal Entry for the following :

Paid Elsa cash Rs. 9300; discount allowed by her Rs. 700

2 : - J-2751




19. If the iotel assets of the firm are Rs. 40,00,000, outside liabilities are
Rs. 25,25,000, what is the amount of capital contributed by the owner?

20. Prepare Mr. E. Esmail Account as it would appear in the books of A.Anil,
compute the balance amount to be paid in cash.

Rs.
(i) Opening batance (credit) 10,000
(i) Purchases made from E. Esmail 60,000
(i) Goods returned to E. Esmail | 6,000
(v) PaidtoE.Esmailbycheque 40,000

(v) Balance paid in cash
21.  Find out the amount of Purchase from the following ﬁgures :

Opening stock Rs. 25,000; Closmg stock Rs. 50,000; Cost of goods sold
Rs. 14,50,000.

22 A business firm pays Rs. 8,000 salaries per month to an employee. But during
the year 2019 only Rs. 88,000 are paid as salary and one month salary Rs. 8,000
is due but not paid. Pass the adjusting entries. - | .
' (8 x 2 =16 Marks)

SECTION-C
Answer any six questions in not exceedmg 120 words. Each question carries
4 marks.
23. What is a Trial Balance? What are its objects?
24. Distinguish between self-balancing and sectlonal balancmg system.

25. How will you deal with the following items appearing in the Trial Balance when
‘preparing final accounts at the end of the year"

(i) Wages
(i) Life insurance premium |
(i) Rent outstanding

(iv) Stock at the end

3 '  J - 2751



26.
27.

28.

26.

30.

- 31

Enumerate any eight Accounting Standards. .
Distinguish between Trial Balance and Balance Sheet.
Write down the adjusting entries required for the following transactions :

(a) Goods withdrawn from business for personal use Rs. 10,000 -

(b‘}lﬁtﬁent paid for the next year Rs. 1,800

(c) Insurance prepaid Rs. 400
(d) Wages paid for the erection of car shed Rs. 10,000.

On 1.1.2019, balance of Provision for Bad Debt was Rs. 1,500. During the year
2019 the bad debts written off amounted to Rs. 440. On 31.12.2019 Sundry
Debtors stood at Rs. 15,000 and 5% Provision for Bad Debts is to be kept. Show
the journal entries.

On 1.1.2018 stock of packages in hand was Rs. 8,000 (valued in the books at
cost less 25%), and Rs. 1,200 in the hands of customers at invoice price, which
is cost plus 50%. ' -

For the year ended 31% December, 2018, Packages were charged out at Cost
Plus 50% and full credit was given in respect of those returned in good condition.
Packages sent out during the year were Rs. 16,000 — (invoice price) and Returns

(all in good condition) Rs. 10,000. Customers retained packages at an invoice

price of Rs. 300 and closing stock of Packages in hand at cost Rs. 6,666.67.

Write up Packa-ge_s Stock Account and Reserve Account.

From the following partlculars you are required to prepare the seh‘—balancmg

Adjustment Account in Debtors’ Ledger :

. Customer A Customer B°  Customer C

Rs. . Rs. - Rs.
Opening balance 20,000 30,000 40,000
Credits Sales 2.00000 - 3,00,000 - 4.00,000

4 ' J-2751




CustomerB

Customer A Customer C
Rs. - Rs. Rs.
Cashysafes 80,000 20,000 30,000
Cash received 1,00,000 - 1,50,000 - 2,10,000
Trade discount allowed | 1,000__ 3,000 7,000
Cash discount allowed 3,000 4,000. 5,000
Goods returned 4,000 2,500 5,500
(6 x 4 = 24 Marks)
SECTION—D |

Answer any two questions in not exceeding 4 pages each. Each question carries
15 marks. '

32. Define accounting concept. Explain the important concepts in accounting.

33. From the following figures extracted from the books of Mr. Haris, you are
required to prepare a Trading and Profit and Loss account for the year ended
31" December, 2019 and a Balance Sheet as on that date after making
necessary adjustments.

Debit Balances ~Rs. - Credit Balances Rs.
~ Purchases 1,20,500  Capital | 52,000

Stock on 1% January 21500 Sales 1,86,000

Salaries . 14,000 Sundry Debtors 10,900

Rent and Rates _. | 3,000

Insurance | ' 800

General expenses 3,100

5 | o J - 2751




34,

Debit Balances Rs. Credit Balances Rs.

Wages. _ 25,000
Machinery ' 31,600
Sundry Debtors 20,000
Cash at bank 3,000
Drawings _ 7,000
Adjustments :

(1) Salaries for the month of December still unpaid Rs. 1,600.

(2) Insurance prepaid to the extent of Rs. 250.

(3) Depreciate machinery by 10%.:

(4) Closing stock was valued at Rs. 26,000,

Following are the particulars re.!ating fo hire purchase :

Purchaser: Ram and Company Selier : Shyam and Company
Date of purchase: January 1, 2016 Goods purchased: Mac_hine_
Cash price: Rs. 12,894

Payments — Rs. 2,000 on signing of the agreement and the balance in the three
equal annual instalments of Rs. 4,000 due on 315 December each year.

Rate of interest — 5% per annum. -
Depreciation - 20% on the written down value each year.
Prepare Machinery Account and Shyam and Company Account in the books of

Ram and Company. Also show the machinery in its balance sheet as on 31
December, 2017. Calculations are to be made to the nearest rupee.
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35. S.8. Jai Hind commenced voyage on 1* October, 2019 from Mumbai to London
and back. The voyage was completed on 30" November, 2019. It carried a
consignment of tea on its onward journey and of machinery on its return journey.
The ship was insured and the annual premium was Rs 120 ,000. Prepare
Voyage Account from the following particulars :

Rs.
(i) Freight earned (outward) 5,00,000
(i) Freight earned (inward) | 3,50,000
(i) Portdues -~ | 25,000
(iv) Bunker _ | 1,50,000
(v) Wages and salaries o 2,50,000
(vi) Stores - 84,000
(vii) Sundry expenses - 25.000
(viii}) Passage mohey received ‘ 50,000
(ix) Lighterage charges o 33,000
(x) Depreciation (annual) | 4,80,000

(xi) Address commission 5% on outward and 4% on inward freight

(xii} Primage is 5% on freight

The manager is entitled to 5% commission on the profit earned after charging

such commission. Stores and coal on hand were valued at Rs. 15,000 on

30™ November, 2019. ,
(2 x 15 = 30 Marks)
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Second Semester B A. IB Sc /B. Com IBBAIBCAIBSWIBMSIB Voc Degree
T | Examlnatlon May 2020 | |

Career Related Flrst Degree Programme Under CBCSS
| o Group 2(b) R |

Language Course (0]

EN 1211 4iEN 211 : WRITING AND PRESENTATION SKILLS
| (201 3-2018 Admlsswn)

) Tlme3H0urs | IR o R ”'.Max._Mar._l.(s 80
Answer alil._oue'stione o | | |
L | Correct.th.e__fol_ll'owi_ng sentence_s'_;_.ﬁ.fhe sentences arecorrect w:rite: ‘.‘No:E'Irror_';'_'.'
1. ‘Do' not kept iei]d'-ahim_als_ at the zoo : S - '
2 The teacher was :moreesed wrth ! and José.
3. | _( They have managed to make a good llfe themaelees
4. | My younger brother works for three years ln a bank |
) _. 5. .I am loving_thls mov:le_.._ |

6. Itis raining for two days.

P.TO.

.(P.agee:lt_l)- ) '_ .. SRR J ?—'-2357'
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| 12
15
16,
1_7L
18.
10,
_'20;'.

21,

1 have decided to go to Mumb'ai a wég;ek ago. . . |

it slipped the mind.
. ._J.by"involved :i'r.l'-_'an 'acpidént_ o

I drive very carefully.

(10 x 1 =10 Marks)

_Answer any eight of the following questions in one or two sentences each.

What is the Comell Method of note-making?

Define a predicate.

What is meant 'by:-a.-phi_lt')sqphi__c_al essay?

What i_s_;_.tﬁe_ importance of business Iett'e.rs?

Define a business report. = .

Give two advantages for cOndtj_cﬁtin'g a telephonic _ih_t¢r—view.' |

'What is meant by bibliography?

Mention two tips for writing a Newspaper Report,

Why is E-mail so populér?'_ -

'- Wnte 'two._-édyertiéihg._ lines for a .'néMY,lauriéhéd fashion store. ' |

__F_’u'nct'uat_é the fdi_lowi_ng sentence:

- after all what is there to watch on television'

22.

M_’éniion the names of some of the different types of note making.
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23,

25,

26,
o7,
28.

.29,
. alcohohsm in your Iocallty

30,

Anewe_r any six directed., |
Writ_e a letter to the Libran‘an for reis_s‘uing'- your Li,br_ary- card.

Construct a dia!ogue on the follovring topic in abbut 80 words.: :

.You are at a Mobde Phone You ask the shopkeeper about the latest moblle o

phones

Prepare a report on, an awareness programme conducted towards Llfestyle.

Dlseases

Prepaire a'functional curriculum vitae highlighting your skills and éxperience.

What are the characteristic features of E-rna_ile?. o

How- 'can' a busineSs report be made-effet;tive’? =

Prepare a bunch of questlons for conduct:ng a survey on the nsmg rate of

Wnte a ,precrs of the foIIownng p'assage reducing' it to one third of ite 'length. |

: Machmes have in fact, become the salves of modem Ilfe They do more and

more work that hurnan beings do not want {o do themselves. Think for a moment
of the extent to which machines do work for you. You wake, perhaps to the hoot

* of a siren by a machine in a neighbouring factory. You wash in water’ brought to

3.

you by the aid of machinery, heated by machinery and placed in basins for your
convenience by a machine. You eat your breakfast quickly cooked for you by-

-machinery, go to school in machlnes made. for saving leg labour. And if you are
lucky to be in a very modern school, you enjoy cinema where a machine teaches - |

you or you listen to lessons broadcast by one of the most wonderful machines. __
So dependent has man become on machines that a- certaln writer imagines a
time when machmes will have acquired a will of thelr own and become the

' master of men, doomed once more to slavery

W__nte a-paragr_aph of 80 words on P_OIIthS‘OI_l_ C_a_r.npu_s'. . o
A N (6'x 4= 24 Marks)
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Iv. ,An_'swer'any'two .of the followiﬁg. |
32. Wﬁige :an essay on anytone of the following in abdu_t tWo‘_ to three padeé_._. |

- (a) Readmg as a hab:t | | | |

' :-(b) The drawbacks of somal medla
(€ Unwersal theracy. | |

33, Writea project report on any' one of the following top;cs .
" (a) E-Leaming -
- Rlse of rufaJ India :

: (c) Declme in mortallty

+

34, Create content for 15-20 slides on any one of the following Power Pomt
- Presentation. :

(a) The |mportance of commumcation
' '(b) The penls of smartphones |
- (c) Youth and Socnal Medta

| 35 '-Wnte an essay elaboratmg the various methods of data collection.
{2x15= 30 Marks)

4 g-amst



